Trigonometry Review Part 1
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Algebra 2
SOH CAH TOA:
1.  What does SOH stand for? _____________________________________
2.  What does CAH stand for? _____________________________________
3.  What does TOA stand for? _____________________________________
4.  Draw a right triangle in the box above and label the right angle C and the acute angles A and B.  Label the 

     legs and hypotenuse.  Label the right angle with appropriate symbol.
5.  Label the sides with lowercase a,b, and c in the appropriate order.
6.  Find the following trigonometric ratios using your right triangle.
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7.  Now label sides, a = 6, b = 8, and c = 10 and find the value of the following trig ratios and reduce.
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8.  Find the value of the missing sides and angle of the right triangle provided.

A.  
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     BC = _________

AB = _________

AB = _________

AB = _________
     AC = _________

AC = _________

AC = _________

BC = _________
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E.  
[image: image21.wmf]______

mA

Ð=


       



       F.  
[image: image22.wmf]______

mA

Ð=


     
[image: image23.wmf]______

mB

Ð=








[image: image24.wmf]______

mB

Ð=


     AB = _________





BC = _________
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Trigonometric Identities

The two most important trig identities:
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Others you might see.
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Graphs of Trigonometric Functions.

Graph of 
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Graph of 
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Amplitude  The height from the “midline” is the amplitude.
9.  The only difference between a sine and cosine graph is where it starts at the y – axis.

A.  The x-axis is the “midline”.  How tall is each graph from the midline? ____________


B.  The amplitude is determined by the number in front of the trig _________________________.

C.  If we change the number in front, what happens to the amplitude?  Try a few numbers with 
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      to see what happens? What happens? __________________________________________________

D.  Is this true for cosine? ______________________________________________________________


E.  What happens when you put a fraction less than 1 in front of the trig function? __________________

Period
10.  Both the sine and cosine take the same time to repeat along the x-axis.  This is the period.

A.  Approximately how long does the graph take to repeat its pattern?  (look at the x-axis) ___________

B.  The period is ________________ unless the number in front of 
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C.  Try changing the number in front of 
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 to 2.  What happened? _______________________________

D.  Try changing the number in front of 
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 to 0.5.  What happened? _____________________________

Law of Sines
11.  The law of sines states 
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.  This means the ratio of the sine of an angle and its opposite 
       side is proportional to ratio of the sine of another angle and its opposite side.  

A.  If 
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, find the measure of c.


___________________________


B.  If 
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, find the measure of a.



___________________________
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